CITY OF SAN ANTONIO PURCHASING & GENERAL SERVICES DEPARTMENT CITY COUNCIL AGENDA MEMORANDUM

TO:

Sheryl Sculley, City Manager

FROM:

Janie B. Cantu, Director of Purchasing & General Services

SUBJECT:

Annual Contracts for Fiscal Year 2005-2006

DATE:

May 4, 2006

SUMMARY & RECOMMENDATION

The attached tabulation of bids is hereby submitted for council consideration and action. Annually at this time, bids are requested for various materials, parts and services. This ordinance includes contracts for Honeywell climate/security safety system maintenance at the Convention Center; vehicular fire protection systems (fire panels); portable radio batteries; BLS defibrillator and ALS Monitor accessories; police helicopter parts; audible pedestrian signals; I.V. solution needle sets; recreational board and table games; and arts and crafts supplies.

Many bids are on a firm, non-escalating basis, while others such as petroleum related items and certain other commodities require escalation of prices during the contract period. Generally, bids reflect small increases over recent prior years, but in many cases reflect decreases.

It is recommended these contracts be approved.

SECTION I:

The bids in this section are a single source of supply bids. (2 contracts)

SECTION II:

The bids in this section are low bids in which award is recommended to the lowest

bidder. (6 contracts)

SECTION III:

The bids in this section are low responsive bids in which award is recommended to

bidders other than the lowest bidders because the lowest bids did not meet City

specifications. (7 contracts)

POLICY ANALYSIS

Annual contracts are an efficient method of securing the best prices through volume purchasing and by reducing large amounts of work related to the bid process. This group of contracts represents a portion of approximately 250 annual contracts that will be brought before City Council throughout the remainder of the fiscal year.

FINANCIAL IMPACT

Funds are not expended by this ordinance. All expenditures will be in accordance with the FY 2006 budget approved by City Council. The combined estimated total for contracts listed on this ordinance is approximately \$3,745,633.

Janje B. Cantu, C.P.M.

Director, Purchasing & General Services

Michael Armstrong

Assistant City Manager/Chief Information Officer

Approved for Council Consideration:

Sheryl Sculley City Manager

Date 5-4-06 Agenda Item:

SUMMARY OF ORDINANCE

An ordinance accepting the bids of various companies to provide the City with various types of commodities and services on an annual contract basis for FY 2006 for an estimated combined total annual cost of \$3,745,633.00 including: Honeywell climate/security safety system maintenance at the Convention Center; vehicular fire protection systems (fire panels); nickel cadmium and nickel metal hydride batteries; BLS defibrillator and ALS Monitor accessories; police helicopter parts; audible pedestrian signals; EZ-IO adult intraosseous infusion needle set; recreational board and table games; and arts and crafts supplies.

Description of Item(s) and Use:

This contract will provide Honeywell climate/security safety system maintenance at the Convention Center to include labor, materials and equipment. This Contract will provide the Convention Center Department with a contractor to provide labor, materials, and equipment to maintain the Honeywell Building Automation System. This system provides coordinated monitoring and activation of the building security, fire system, and HVAC (heating, ventilation, and airconditioning) control and temperature management at the Convention Center, Municipal Auditorium, and University of Mexico (UNAM).

	trol and temperatur	re management at the Convention Center, Municipal Auditorium, and University of		
Estimated Total	\$2,436,627.0	0 annually		
Bid Number and	Γitle	A496-06-MR Honeywell Climate/Security Safety System Maintenance at the		
		Convention Center		
Contract Period		Upon Award through 3-31-2011		
Method of Procur	ement	Single Source		
Price Trend		3% Increase per year at anniversary		
Contract Info:	Formal	l X Annual Support/Maintenance Lease		
Contractor(s):	1	national Inc., Honeywell Business Solutions, Automation and Control Solution, 506 e 250, San Antonio, TX 78216		
Previous Related (Council Action(s):			
	Date:			
	Agenda Item #:			
	Action:			
	Date	The state of the s		
	Agenda Item			
	Action			
	Date:			
	Agenda Item #:			
Action:				
Anticipated Futu	re Requirements	and Actions:		
Comments:				
	: Fire, Security, hy their pricing in the	vac & building access. Honeywell will replace 100% of defective parts. Honeywell past 2 years.		
	Convention Cente			

Date 5-4-06 Agenda Item:

SUMMARY OF ORDINANCE

An ordinance accepting the bids of various companies to provide the City with various types of commodities and services on an annual contract basis for FY 2006 for an estimated combined total annual cost of \$3,745,633.00 including: Honeywell climate/security safety system maintenance at the Convention Center; vehicular fire protection systems (fire panels); nickel cadmium and nickel metal hydride batteries; BLS defibrillator and ALS Monitor accessories; police helicopter parts; audible pedestrian signals; EZ-IO adult intraosseous infusion needle set; recreational board and table games; and arts and crafts supplies.

Description of Item(s) and Use:

This contract will provide the Police Department with fire suppression panels (fire panel kits) for Crown Victoria Police Interceptors. The devices will be used to retrofit existing Police Interceptors and provide a "one of a kind" protection panel that utilizes ABC dry chemical to suppress a fire in the event of a rear end collision. 80 vehicles will be retrofitted with these new panels.

Estimated Total	\$28,560.00				
Bid Number and T	itle	A1105-06-DG Fire Suppression Systems (Fire Panel Kits)			
Contract Period		Upon Award through 4-30-07			
Method of Procure	ement	Sole Source			
Price Trend		New Contract – No previous history for comparison			
Contract Info:	Form	al X AnnualSupport/MaintenanceLease			
Contractor(s):	Fire Panel LLC.	. 15678 Greenway-Hayden, Scottsdale, AZ 85260			
Previous Related	Council Action(s):			
D:	ate				
Agenda Ito	em				
Acti	ion				
D	ate				
Agenda Ite	em				
Acti	ion				
D	ate				
Agenda Ite	em				
Acti	ion				
Anticipated Future Requirements and Actions:					
Comments:					
Using Police Department:					

Date 5-4-06 **Agenda Item:**

SUMMARY OF ORDINANCE

An ordinance accepting the bids of various companies to provide the City with various types of commodities and services on an annual contract basis for FY 2006 for an estimated combined total annual cost of \$3,745,633.00 including: Honeywell climate/security safety system maintenance at the Convention Center; vehicular fire protection systems (fire panels); nickel cadmium and nickel metal hydride batteries; BLS defibrillator and ALS Monitor accessories; police helicopter parts; audible pedestrian signals; EZ-IO adult intraosseous infusion needle set; recreational board and table games; and arts and crafts supplies.

Description of Item(s) and Use:

This contract will provide the City with nickel cadmium and nickel hydride intrinsically safe radio batteries for portable M/A-COM 800 MHz radios used by SAPD, SAFD, Public Works and ITSD.

Estimated Total	\$124,241.0	0 annually		
Bid Number and T	Title	A025a-06-DS Nickel Cadmium and Nickel Metal Hydride Batteries		
		(Portable Radio Batteries)		
Contract Period		Upon Award through 12-31-06 with two one year options to extend		
Method of Procure	ement	Competitively Bid		
Price Trend		New Items		
Contract Info:	Form	al X_AnnualSupport/MaintenanceLease		
Contractor(s):	Multiplier Indu	stries, 135 Radio Circle, Mt. Kisco, NY 10549 – Entire Bid		
Previous Related	Council Action	(s):		
D	ate			
Ordinar	nce			
Act	ion			
D	ate			
Agenda It	em			
Act	ion			
Anticipated Futu	re Requirement	s and Actions:		
Comments:				
Using I Department:	Police, Fire, Pub	lic Works and ITSD		

Date 5-4-06 Agenda Item:

SUMMARY OF ORDINANCE

An ordinance accepting the bids of various companies to provide the City with various types of commodities and services on an annual contract basis for FY 2006 for an estimated combined total annual cost of \$3,745,633.00 including: Honeywell climate/security safety system maintenance at the Convention Center; vehicular fire protection systems (fire panels); nickel cadmium and nickel metal hydride batteries; BLS defibrillator and ALS Monitor accessories; police helicopter parts; audible pedestrian signals; EZ-IO adult intraosseous infusion needle set; recreational board and table games; and arts and crafts supplies.

Description of Item(s) and Use:

This contract will provide basic life support (BLS) and advanced life support (ALS) defibrillator accessories utilized with the new Phillips Heartstart MRx defibrillators. This equipment is necessary to treat patients that need external defibrillation of the heart.

Estimated Total		\$399,357.00	annually		
Bid Number and T	itle		A438-06-DS BLS Defibrillator and ALS Monitor Accessories		
Contract Period			Upon Award through 12-31-06 with one year option to extend		
Method of Procure	mei	nt	Competitively Bid		
Price Trend			First time purchase of these items. No history for comparison.		
Contract Info:		_Formal	X_AnnualSupport/MaintenanceLease		
Contractor(s):	Μe	edic First Aid I	nternational, 1450 Westec Drive, Eugene, OR 97402		
	Во	und Tree Medi	ical LLC, 2465 S Industrial, Tempe, AZ 85282		
Previous Related	Coı	incil Action(s)):		
Da	ate	1-5-06			
Ordinance 8					
			01-05-34 accepting the Sole Source bid submitted by Phillips Medical to provide Hearstart		
		MRx ALS Mo	nitor Defribrillator for a total of \$512,656.00		
	ate				
Agenda Ite					
Acti	on				
Anticipated Futu	Anticipated Future Requirements and Actions:				
Comments:					
Using Fire EMS Department:					

Date 5-4-06 Agenda Item:

SUMMARY OF ORDINANCE

An ordinance accepting the bids of various companies to provide the City with various types of commodities

and services on an annual contract basis for FY 2006 for an estimated combined total annual cost of \$3,745,633.00 including: Honeywell climate/security safety system maintenance at the Convention Center; vehicular fire protection systems (fire panels); nickel cadmium and nickel metal hydride batteries; BLS defibrillator and ALS Monitor accessories; police helicopter parts; audible pedestrian signals; EZ-IO adult intraosseous infusion needle set; recreational board and table games; and arts and crafts supplies.			
Description of Ite	em(s) and Use:		
This contract will p	provide the Police	Department with helicopter parts for the 3 Schweizer helicopters.	
Estimated Total	\$305,675.00	annually	
Bid Number and T	itle	A475-06-DG Police Helicopter Parts	
Contract Period		Upon Award through 5-31-07 with one year option to extend	
Method of Procure	ement	Competitively Bid	
Price Trend		8.54% Decrease	
Contract Info:	Formal	X_AnnualSupport/MaintenanceLease	
Contractor(s):	Air Flite Inc., 232	20 Airport Drive, Shawnee, OK 74804	
Previous Related	Council Action(s):	
D	ate		
Item N	No.		
Ordinar	nce		
Acti	ion		
	ate		
Agenda It			
Acti	ion		
Anticipated Futu	re Requirements	and Actions:	
San Antonio Police Helicopter, Bid No. 06-094 DG scheduled to open April 21, 2006			
Comments:			
Using Police Department:			

Date 5-4-06 Agenda Item:

SUMMARY OF ORDINANCE

An ordinance accepting the bids of various companies to provide the City with various types of commodities and services on an annual contract basis for FY 2006 for an estimated combined total annual cost of \$3,745,633.00 including: Honeywell climate/security safety system maintenance at the Convention Center; vehicular fire protection systems (fire panels); nickel cadmium and nickel metal hydride batteries; BLS defibrillator and ALS Monitor accessories; police helicopter parts; audible pedestrian signals; EZ-IO adult intraosseous infusion needle set; recreational board and table games; and arts and crafts supplies.

Description of Item(s) and Use:

This contract will provide the Public Works Department Traffic Operations Division with audible pedestrian signals which will be used at pedestrian crosswalks throughout the City. These units are designed to aide visually impaired pedestrians in crossing at signalized intersections.

Estimated Total	\$91,126.00 a	nnually		
Bid Number and T	Title	A1108-06-DG Audible Pedestrian Signals		
Contract Period		Upon Award through 4-30-07 with one year option to extend		
Method of Procure	ement	Competitively Bid		
Price Trend		New Contract. No previous history for comparison.		
Contract Info:	Formal	X_AnnualSupport/MaintenanceLease		
Contractor(s):	Consolidated Tra	ffic Controls, Inc. 1016 Enterprise Place, Arlington, TX 76001		
Previous Related	Council Action(s):		
D	ate			
Agenda It	em			
Act	ion			
Anticipated Futu	Anticipated Future Requirements and Actions:			
Comments:				
Using I Department:	Public Works			

Date 5-4-06 Agenda Item:

SUMMARY OF ORDINANCE

An ordinance accepting the bids of various companies to provide the City with various types of commodities

and services on an annual contract basis for FY 2006 for an estimated combined total annual cost of \$3,745,633.00 including: Honeywell climate/security safety system maintenance at the Convention Center; vehicular fire protection systems (fire panels); nickel cadmium and nickel metal hydride batteries; BLS defibrillator and ALS Monitor accessories; police helicopter parts; audible pedestrian signals; EZ-IO adult intraosseous infusion needle set; recreational board and table games; and arts and crafts supplies.				
Description of Iter This contract will patients during tra	provide the Fire	e Department EMS with IV solution needle sets utilized in the treatment of medical facility.		
Estimated Total	\$200,000.00			
Bid Number and T	itle	A1109-06-DS EZ-IO Adult Intraosseous Infusion Needle Set (I.V. Solution Needle Sets)		
Contract Period		Upon Award through 12-31-06 with one year option to extend		
Method of Procure	ment	Competitively Bid		
Price Trend		New Contract. No previous history for comparison.		
Contract Info:	Formal	X_AnnualSupport/MaintenanceLease		
Contractor(s):	CVC, Inc., 2320	Michigan, Arlington, TX 76016		
Previous Related	Council Action(s):		
Da	ite			
Agenda Ite				
Actio	on			
Anticipated Futur	re Requirements	and Actions:		
Comments:				
Using P Department:	ublic Works			

Department:

Date 5-4-06 Agenda Item:

SUMMARY OF ORDINANCE

An ordinance accepting the bids of various companies to provide the City with various types of commodities

and services on an annual contract basis for FY 2006 for an estimated combined total annual cost of \$3,745,633.00 including: Honeywell climate/security safety system maintenance at the Convention Center; vehicular fire protection systems (fire panels); nickel cadmium and nickel metal hydride batteries; BLS defibrillator and ALS Monitor accessories; police helicopter parts; audible pedestrian signals; EZ-IO adult intraosseous infusion needle set; recreational board and table games; and arts and crafts supplies.			
	l provide the Par	ks Department After School Challenge Program, Summer Recreation and ous recreational and table board games.	
Estimated Total	\$98,600.00 a	nnually	
Bid Number and T	itle	A795-06-AW Recreational Board and Table Games	
Contract Period		Upon Award through 5-31-07	
Method of Procure	ement	Competitively Bid	
Price Trend		Current price trend reflects an average 3.02% increase for items 1-42. Items 43-74 are new items that have not been previously purchased under this contract.	
Contract Info:	Formal	I X Annual Support/Maintenance Lease	
Contractor(s):	T.A.G. Sales, Ltd	d., 411 Hunters Creek Dr., New Braunfels, TX 78132	
	Learning Zone, 1	0531 Gulfdale, San Antonio, TX 78216	
	S & S Worldwide	e, 75 Mill Street, Colchester, CT 06415	
	Cannon Sports, P	O Box 11179, Burbank, CA 91510	
Previous Related	Council Action(s	s):	
	ate		
Agenda It			
Action			
Anticipated Future Requirements and Actions:			
Comments:			
Using I	Parks	· · · · · · · · · · · · · · · · · · ·	

Date 5-4-06 Agenda Item:

SUMMARY OF ORDINANCE

An ordinance accepting the bids of various companies to provide the City with various types of commodities and services on an annual contract basis for FY 2006 for an estimated combined total annual cost of

\$3,745,633.00 in vehicular fire predefibrillator and	ncluding: Honey rotection system: ALS Monitor a	rect basis for FY 2006 for an estimated combined total annual cost of well climate/security safety system maintenance at the Convention Center; s (fire panels); nickel cadmium and nickel metal hydride batteries; BLS accessories; police helicopter parts; audible pedestrian signals; EZ-IO adult recreational board and table games; and arts and crafts supplies.			
	l provide the Par	ks Department After School Challenge Program, Summer Recreation and ous recreational and table board games.			
Estimated Total	\$57,818.00 a	nnually			
Bid Number and T		A797-06-AW Arts and Crafts Supplies			
Contract Period		Upon Award through 5-31-07			
Method of Procure	ement	Competitively Bid			
Price Trend		Current price trend reflects an average 5.12% decrease for all items; excluding items 4, 11, 12, 30-34 and 36-41, which are new items that have not been previously purchased under this contract.			
Contract Info:	Formal	l X Annual Support/Maintenance Lease			
Contractor(s):	S & S Worldwide	e, 75 Mill Street, Colchester, CT 06415			
	Sax Arts and Cra	fts, P O Box 510710, New Berlin, WI 53151			
	Dick Blick, P O I	Box 1267, Galesburg, IL 61402			
Previous Related	Council Action(s):			
D	ate				
Agenda It					
Act	Action				
Anticipated Futu	re Requirements	and Actions:			
Comments:					
Using l Department:	Parks				

SECTION I COUNCIL, MAY 4, 2006 SINGLE SOURCE BIDS

SECTION I:

SINGLE SOURCE BIDS

The bids in this section are a single source of supply contract.

COMMODITY

 Honeywell Climate/Security Safety System Maintenance at the Convention Center A496-06-MR Upon Award through 3-31-2011

This sole source contract will provide the City of San Antonio Convention Center with labor, materials and equipment to maintain the Honeywell Building Automation System. The system provides coordinated monitoring and activation of the building security, fire system and hvac controls.

Vehicular Fire Protection Systems (Fire Panels)
 A1105-06-DG
 Upon Award through 4-30-07

This sole source contract will provide the Police Department with fire suppression system (fire panel kits) for Crown Victoria Interceptors. The devices will be used to retrofit existing Police Interceptors and provide a "one of a kind" protection panel that utilizes ABC dry chemical to suppress a fire in the event of a rear end collision.

MBE VENDOR

Honeywell International Inc. Honeywell Building Solutions Entire Bid Est Amount \$2,436,627

Year 1 \$458,952 Year 2 \$472,716 Year 3 \$486,900 Year 4 \$501,507 Year 5 \$516,552

Fire Panel, LLC Entire Bid Est Amount \$28,560 annually

CITY OF SAN ANTONIO BID TABULATION

SOLE SOURCE ANNUAL CONTRACT FOR: HONEYWELL CLIMATE / SECURITY SAFETY SYSTEM MAINTENANCE AT THE CONVENTION CENTER

HONEYWELL International, Inc. Honeywell Building Solutions Automation and Control Solutions 506 Sandau Road, Suite 250 San Antonio, Texas 78216

1.	Contract Year 1 ("CY 1")April 1, 2006 – March 31, 2007 a. Complete System Maintenance Cost Annually: b. Service Technical Labor: Straight Time per hour: c. Service Technical Labor: Overtime per hour:	\$458,952.00 \$97.00 144.50
2.	Contract Year 2 ("CY 2")April 1, 2006 – March 31, 2008 a. Complete System Maintenance Cost Annually: b. Service Technical Labor: Straight Time per hour: c. Service Technical Labor: Overtime per hour:	\$472,716.00 \$99.00 148.00
3.	Contract Year 3 ("CY 3")April 1, 2006 – March 31, 2009 a. Complete System Maintenance Cost Annually: b. Service Technical Labor: Straight Time per hour: c. Service Technical Labor: Overtime per hour:	\$486,900.00 \$101.00 150.50
4.	Contract Year 4 ("CY 4")April 1, 2006 – March 31, 2010 a. Complete System Maintenance Cost Annually: b. Service Technical Labor: Straight Time per hour: c. Service Technical Labor: Overtime per hour:	\$501,507.00 \$103.00 153.50
5.	Contract Year 5 ("CY 5")April 1, 2006 – March 31, 2011 a. Complete System Maintenance Cost Annually: b. Service Technical Labor: Straight Time per hour: c. Service Technical Labor: Overtime per hour:	\$516,552.00 \$105.00 156.50

Terms A0496-06-MR Net 30

CITY OF SAN ANTONIO BID TABULATION

VEHICULAR FIRE PROTECTION SYSTEMS (FIRE PANELS)

FIRE PANEL, LLC. 15678 GREENWAY-HAYDEN SCOTTSDALE, AZ 85260

<u>ITEM</u>	DESCRIPTION	QTY	UNIT <u>PRICE</u>	EXTENDED <u>PRICE</u>
1	Vehicular Fire Protection Systems (Fire Panels)	80	\$357.00	\$28,560.00
	TOTAL			\$28,560.00

A1105-06 DG

SECTION II COUNCIL, MAY 4, 2006 LOW BIDS

SECTION II: LOW BIDS

The bids in this section are low bids in which award is recommended to the lowest bidder.

COMMODITY

 Nickel Cadmium and Nickel Metal Hydride Batteries (portable radio batteries) A025a-06-DS Upon Award through 12-31-06 With two one year options to extend

This contract will provide the City of San Antonio with nickel cadmium and nickel metal hydride batteries for use in portable radios and communications equipment.

 BLS Defibrillator and ALS Monitor Accessories A438-06-DS Upon Award through 12-31-06 With one year option to extend

This contract will provide basic life support (BLS) and advanced life support (ALS) defibrillator accessories utilized with the new Phillips Heartstart MRx defibrillators. This equipment is necessary to treat patients that need external defibrillation of the heart.

3. Police Helicopter Parts
A475-06-DG
Upon Award through 5-31-07
With one year option to extend

This contract will provide the City of San Antonio Police Department Helicopter Unit with parts for the City's three police helicopters.

MBE VENDOR

Multiplier Industries Corp Entire Bid Est Amount \$124,241 annually

Medic First Aid International Items 1, 3, 4, 5, 6 Est Amount \$399,357 annually

Bound Tree Medical LLC Item 2 Est Amount \$3,630

Air Flite, Inc. Entire Bid Est Amount \$305,675 annually

SECTION II COUNCIL, MAY 4, 2006 LOW BIDS

SECTION II:

LOW BIDS

The bids in this section are low bids in which award is recommended to the lowest bidder.

COMMODITY

MBE

VENDOR

4. Audible Pedestrian Signals
A1108-06-DG
Upon Award through 4-30-07
With one year option to extend

Consolidated Traffic Controls, Inc. Entire Bid Est Amount \$91,126 annually

This contract will provide the City of San Antonio Public Works Department Traffic Operations with audible pedestrian signals which will be used at pedestrian crosswalks throughout the City. The units are designed to aide visually impaired pedestrians in crossing at signalized intersections.

 5. EZ-IO Adult Intraosseous Infusion Needle Set (I.V. Solution Needle Sets) A1109-06-DS Upon Award through 12-31-06 With one year option to extend CVC, Inc.
Entire Bid
Est Amount \$200,000 annually

This contract will provide the City of San Antonio Fire Department EMS with EZ-IO adult intraosseous infusion needle sets which are utilized with IV solutions in treating patients during transportation to a medical facility.

Opened:	March 10, 2006]									
ļ -			MLWN	MLWN	MLWN	MLWN	MLWN	MLWN	MLWN	MLWN	MLWN
For:	Annual Contract for Nickel Cadmium and		Multiplier	OSI Batteries	Battery Zone, Inc.	Globe Electronics	1	Holzberg	North American	Airwave Radio Inc.	1 ' (
-	Nickel Metal Hydride Batteries		Industries Corp.			Co., Inc.	Wireless, Inc	Communications,	Battery Company		Communications
A025a-06	DS	<u> </u>	135 Radio Circle	6213 Bury Drive	P.O. Box 851	P.O. Box 710548		P.O. Box 322	2155 Paseo De	1138 Basse Rd.	3440 E. Houston St
							#200	-	Las Americas #31		S Ain
ltem	Description	Est. Annual					Garland.	Totowa]	1	San Antonio.
		Usage (Ea)	NY 10549	MN 55346	IL 60050	TX 77271	TX 75041	NJ 07511	CA 92154	TX 78212	TX 78219
i	BKB191210/35	1.300		ļ				ļ		00045	6100.75
	Price Each	ļ	\$46.57	1	l .	\$54.50	l .			l .	1 I
	Price Total		\$60.541.00	\$69,550.00	\$ 67.925.00	\$70,850.00	1	3	1	1	
	Brand Name		Multiplier			Multiplier				M/A-COM	
	Part Number		M191210/5	OS191210/5-M		M191210/5		1	1		1
	Delivery		10 Days	180 Days	14 Days	7 Days	10 Days	14 Days	90 Days	10 Days	14 Days
2	 BKB1912210/6	1,300						ļ			1
	Price Each		\$49.00	\$55.50	\$58.75	\$58.50	\$59.41	\$60.75	\$63.11	\$108.65	\$123.75
	Price Total	ļ	\$63,700.00	\$72,150.00	\$76,375.00	\$76,050.00	\$77.233.00	\$78,975.00	\$82,043.00	\$141,245.00	\$160.875.00
	Brand Name		Multiplier			Multiplier	Multiplier			M/A-COM	
	Part Number	1	M191210/6			M191210/6	M191210/6	M191210/6	NA7100HIS		1 1
	Delivery		10 Days	180 Days	14 Days	7 Days	10 Days	14 Days	90 Days	10 Days	14 Days
	Terms		Net 30	Net 30	Net 30	Net 30	Net 30	Net 30	0.5% 10 Days	Net 30	1/2% 10 Days
	Total Estimated Annual Award	 	\$124,241.00	\$141,700.00	\$144,300.00	\$146,900.00	\$148,954.00	\$152,750.00	\$154,128.00	\$266.630.00	\$302,250.00

Contract Period: upon award and terminating 12/31/2006 Option: 2-1 Yr. Ext-Expires 2008

Opened: March 10, 2006

For: BLS Defibrillator And ALS Monitor Accessories

			MSWN	MLWN	MSON	MLWN	MSWN	MLWN
			Medic First Aid	Bound Tree	Kentron Healthcare.	Philips Medical	Progessive Medical	Medtronic
l			International	Medical. LLC	Inc.	Systems	International	Emergency
A438-06			1450 Westec Drive		P. O. Box 120	2401 4th Avenue, Ste.	1250 Industrial Ave.	11811 Willows
Item	Description	Est. Annual			Springfield,	Seattle,		Redmond.
		Usage	OR 97402	AZ 85282	TN 37172	WA 98121	CA 92029	WA 98073
1	Philips Electrodes	1,000				****	*****	
j	Price per box		\$203.00	II .	ľ	I .	l .	1 1
	Price Total		\$203,000.00		1			i i
	Brand Name		Philips		Philips		Philips	
	Part Number		M3713∧					
	Delivery		21 days	3-5 days	15 days	30 Days	5 Days	ļ
2	Heart Start FR-2 Defirillator Long Life Battery	25	1				1	
_	Price per each		\$160.30	\$145.22	\$269.00	\$160.30	\$190.83	No Bid
	Price Total		\$4,007.50	B	1	\$4,007.50	\$4,770.75	1 1
	Brand Name		Philips	A		1	Philips	i l
	Part Number		M3863A		1 '			1 1
ĺ	Delivery		21 days	1	11	l	1	
								[
3	MRx ALS Monitor Pediatric Pads	150						1
	Price per box		\$108.50		1		1	1 1
l	Price Total	ł	\$16.275.00	\$31,828.50	l .		1	1 1
	Brand Name		Philips	Philips	Philips	Philips	Philips	1
i	Part Number	ł	M3717A	M3717A	M3717A	M3717A		(
	Delivery		21 days	30 days	15 Days	30 Days	5 Days	1
4	Filter Line Set Adult/Pediatric ETC02	100		1		1]
1	Price per box	.00	\$161.00	\$243.75	\$262.00	\$177.10	\$191.65	\$172.00
1	Price Total		\$16,100.00	L .	1	1	1	
	Brand Name	l	Philips	9	ł .		1	1
ĺ		1	M1920A	n '	,			1 ' 1
	Part Number				1		1	1
L	Delivery	<u></u> _	21 days	3-3 Days	13 Days	Ju Days	'l Juays	1 30 Days

Opened: March 10, 2006 BLS Defibrillator And ALS Monitor Accessories MLWN MSWN MLWN MSON MLWN MSWN Bound Tree Kentron Healthcare. Philips Medical Progessive Medical Medtronic Medic First Aid Medical, LLC Systems International Emergency Inc. International P. O. Box 120 2401 4th Avenue, Ste. 1250 Industrial Ave. 11811 Willows 2465 S. Industrial 1450 Wester Drive A438-06 Est. Annual Eugene. Seattle. Escondido. Redmond. Springfield. Description Tempe. CA 92029 WA 98073 AZ 85282 TN 37172 WA 98121 OR 97402 Usage ETC02 Non-intubated Nasal Capnoline Adult \$247.94 \$268,33 \$236.00 \$329.25 \$363.10 \$225.40 Price per box \$181,550.00 \$123,970.00 \$134,165.00 \$118,000.00 \$164,625.00 \$112,700.00 Price Total Philips Philips Philips Philips Philips Brand Name Philips M2526A M2526A M2526A M2526A M2526A M2526A Part Number 15 Days 30 days 5 Days 30 Days Delivery 21 days 3-5 days 666 ECG Electrodes High-Tack Snap On \$135.00 \$84.70 \$91.65 No Bid \$80.40 \$77.00 Price per box \$56,410.20 \$61.038.90 \$89,910.00 \$51,282.00 \$53,546.40 Price Total Philip: Philips Philips Philips Philips Brand Name M2202/ M2202A M2202A M22002A M2202A Part Number 21 days 3-5 Days 15 Days 30 days 5 Days Delivery Net 30 Net 30 Net 30 Net 30 Net 30 Net 30 Terms

\$399,357.00

\$3,630.50

Note: item # 5 Philips M2525 Discontinued and replaced with M2526A

Contract period: upon award and terminating 12/31/2006 1 Yr. option Ext-Expires 2007

Contract Amount: Estimated \$402,987.50

Total Estimated Annual Award

End Users: San Antonio Fire/EMS

Scope: These accessories are utilized with the new Philips Heartstart MRx Defibrillators, this equipment is necessary to treat patients that need external defibrillatorion of the heart.

or:	Annual Contract for Police Helicopter Parts & Service	Helicopter Specialists,	Helicopter Experts, Inc.
		Inc.	
475-05	тс	P.O. Box 18154	P.O. Box 791735
Item	Description	San Antonio, TX 78218	San Antonio, TX 78279
	Schweizer 333 Parts		NAS
A	Captive Parts		
	Discount off mfr. price list	5%	5%
В	Competitive Parts Discount off mfr. price list	5%	Net Cost + 15%
С	Overhauls & Other Outside Labor Discount off mfr. price list	5%	Net Cost + 15%
11	Labor Rate		
Α	Normal business hours Price per hour	\$40.00	\$36.0
В	Other than normal business hours Price per hour	\$60.00	\$54.0
С	Road service call rates Price per hour	\$40.00	\$37.5
Ш	Schweizer 333SP Standard Inspections 25 HR		
A	Hours to complete inspection	\$37.50	1
B C	Rate per hour Cost for inspection	\$37.5	- II
	150 HR	·	
Α	Hours to complete inspection	1.:	
В	Rate per hour	\$37.5	
С	Cost for inspection	\$56.2	\$54.
	100 HR		8
A	Hours to complete inspection	1. \$37.5	
B C	Rate per hour Cost for inspection	\$675.0	- II
	·		
Α	100 HR/Annual Hours to complete inspection	2	1
В	Rate per hour	\$37.5	H
C	Cost for inspection	\$787.5	
	400 HR		
Α	Hours to complete inspection		5
В	Rate per hour	\$37.5	
С	Cost for inspection	\$1,312.5	\$1,260
	800 HR		
Α	Hours to complete inspection		.5
В	Rate per hour	\$37.5	
С	Cost for inspection	\$1,687.5	\$1,619
	Terms	2%-1	5 Net

NAS - Helicopter Experts, Inc. did not meet specifications regarding FAA Certified Mechanic requirement.

CONTRACT TERM: October 1, 2004 - September 30, 2005; OPT: 1-1 YR. EXT.-EXPIRES 2006 \$305,675.00 Annually; \$611,350.00 Total Contract Amount for 2-YR Period.

,	April 4, 2006 Annual Contract for Audible Pedestrian		
For:	Signals		MSWN
			Consolidated Traffic
			Controls, Inc.
A1108-06	3	DG	1016 Enterprise Place
		Estimated	
Item	Description	Quantity	TX 76001
1	Pedestrian Push Button Unit	117	
	Price Each	1	\$308.00
	Total Price		\$36,036.00 Polara
	Brand		N25AB1Y
	Model		11/20/15/11
2	2 Wire Control Unit	25	
_	Price Each		\$2,185.00
	Total Price]	\$54,625.00
	Brand		Polara 2WCCU
	Model		20000
3	Voice Message Software	1	
	Price Each		\$465.00
i	Total Price		\$465.00
	Brand		Polara
	Model		VPK
	Delivery		30-90 Days
	Terms		Net 30
	Totals		\$91,126.00
	ESTIMATED AWARD		\$91,126.00

Contract Period: Upon award - April 30, 2007, One (1) year option to extend

Estimated Cost: \$91,126.00

Total Cost: \$182,252.00, including option to extend

Opened:	March 31, 2006			
For:	EZ-IO Adult Intraosseous Infusion Needle Set			
}			MLWN	MSWN
			CVC, Inc	Ever Ready First Aid
A1109-06-DS			2320 Michigan	101-01 Foster Ave.
Item	Description	Est. Annual	Arlington,	Brooklyn,
}		Usage	TX 76016	NY 11236
1	EZ-IO Adult Intraosseous Infusion Needle Set	400		
	Price per box	-	\$500.00	l3
	Price Total	ļ	\$200,000.00	\$232,072.00
	Brand Name	ļ	EZ-IO	EZ-IO
	Part Number]	90001	90001
}	Delivery	j	10 Days	14 Days
	Terms		1% 10 Days	
	Total Estimated Annual Award		\$200,000.00	

Contract period: upon award and terminating 12/31/2006 1 Yr. option Ext-Expires 2007

Contract Amount: Estimated \$200,000.00

SECTION III COUNCIL, MAY 4, 2006 LOW RESPONSIVE BIDS

SECTION III: LOW RESPONSIVE BIDS

1.

2.

The bids in this section are low responsive bids in which award is recommended to bidders other than the lowest bidders because the lowest bids did not meet City specifications. (1 contract)

	COMMODITY	MBE	VENDOR
į	Recreational Board and Table Games A795-06-AW Upon Award through 5-31-07	WBE	T.A.G. Sales Ltd. Items 1, 2, 3, 6, 7, 8, 11, 13-27, 30-36, 38-42, 44-48, 50, 52, 54-64, 66, 68-72 Est Amount \$80,498 annually
	This contract will provide the City of San Antonio Parks Department After School Challenge Program, Summer Recreation and Community Center sites with various recreational and table board games.	MBE	Learning Zone Items 4, 9, 12, 43, 73 Est Amount \$7,111
	3		S & S Worldwide Items 10, 28, 29, 49 Est Amount \$5,699
			Cannon Sports Items 5, 51, 53, 67 Est Amount \$5,291
•	Arts and Crafts Supplies A797-06-AW Upon Award through 5-31-07		S & S Worldwide Items 1-5, 7, 9, 12-27, 30-32, 35-40 Est Amount \$54,523 annually
	This contract will provide the City of San Antonio Parks Department After School Challenge Program, Summer Recreation and Community Center sites with various arts and crafts supplies.		Sax Arts & Crafts Items 10, 29, 33, 34, 41 Est Amount \$2,171 Dick Blick Item 6 Est Amount \$1,124 annually
			• •

Opened:	March 28, 2006	T.A.G. Sales Ltd.	Learning Zone	S&S Worldwide
For:	Annual Contract for Recreational Board & Table Games	411 Hunters Creek Drive	10531 Gulfdale	75 Mill St.
A795-06	AW/arw	New Braunfels, TX 78132	San Antonio, TX 78216	Colchester, CT 06415
Item	Description			
1	140 Each-Candy Land			
	Price Each Total Price Brand Model	\$6.49 \$908.60 Milton Bradley 4700	\$964.60 Milton Bradley	\$1,024.80 Milton Bradley
2	140 Each-Chutes & Ladders Price Each Total Price Brand Model	\$5.74 \$803.60 Milton Bradley 4555	\$827.40 Mitlon Bradley	\$904.40 Milton Bradley
3	140 Each-Pick Up Sticks Price Each Total Price Brand Model	\$0.82 \$114.80 Pressmar 01515	\$120.40 Pressmar	\$121.80 Pressman
4	583 Each-Uno Cards Price Each Total Price Brand Model	\$4.11 \$2,396.13 Matte 4100	\$2,227.06 Matte	\$2,611.84 Not Given
5	94 Each-Gesstures Price Each Total Price Brand Model	N A S \$22.79 \$2,142.26 Milton Bradle 4251	\$2,246.60 Milton Bradle	\$2,331.20 y Milton Bradley
6	194 Each-Mancala Price Each Total Price Brand Model	\$5.59 \$1,084.46 Pressman 04420	\$1,162.06 Marlo	\$1,198.92 n Pressman
7	1014 Each-Connect Four Price Each Total Price Brand Model	\$10.69 \$10,839.66 Milton Bradle 443	\$11,762.40 Milton Bradle) \$12,249.12 y Milton Bradley
8	230 Each-Monopoly, Sports Ed. Price Each Total Price Brand Model	\$22.69 \$5,218.70 Parker Bro Variou	\$4,482.79 Hasbr	0

Opened:	March 28, 2006	T.A.G. Sales Ltd.	Learning Zone	S&S Worldwide
For:	Annual Contract for Recreational Board & Table Games	411 Hunters Creek Drive	10531 Gulfdale	75 Mill St.
A795-06	AW/arw	New Braunfels, TX 78132	San Antonio, TX 78216	Colchester, CT 06415
Item	Description			
9	93 Each-Monopoly, San Antonio Ed. Price Each Total Price Brand Model	No Bid	\$28.00 \$2,604.00 Late for the Sky 1345	No Bid
10	257 Each-Bingo	NAS	NAS	
10	Price Each Total Price Brand Model	\$1.89 \$485.73 Pressman 1905	\$5.90 \$1,516.30 Pressman	\$3,803.60 Walco
11	140 Each-Cootie Price Each Total Price Brand Model	\$4.89 \$684.60 Milton Bradley 4782	\$715.40 Milton Bradley	\$767.20 Milton Bradley
12	30 Each-Shuttles Price Each Total Price Brand Model	No Bid	\$17.90 \$537.00 Damer 791776	
13	140 Each-Sorry Price Each Total Price Brand Model	\$13.04 \$1,825.60 Parker Bros	\$1,988.00 Parker Bros	\$2,079.00 Parker Bros
14	448 Each-Twister Price Each Total Price Brand Model	\$11.94 \$5,349.12 Milton Bradle 464	\$13.19 2 \$5,909.12 Milton Bradley	\$13.60 2 \$6,092.80 y Milton Bradley
15	210 Each-Go Fishing for Letters Price Each Total Price Brand Model	\$8.29 \$1,740.90 University Game: 1560	\$2,496.90 Unversity Games	s
16	140 Each-Tri-Ominos Price Each Total Price Brand Model	5.28 \$739.20 Pressmal 442	\$838.60 Pressmal) \$814.80 n Pressman

Opened:	March 28, 2006	T.A.G. Sales Ltd.	Learning Zone	S&S Worldwide
, po. 102.				
or:	Annual Contract for Recreational Board & Table Games	411 Hunters Creek Drive	10531 Gulfdale	75 Mill St.
795-06	AW/arw	New Braunfels, TX 78132	San Antonio, TX 78216	Colchester, CT 06415
Item	Description			
17	237 Each-Guess Who?		1 642.40	\$13.60
	Price Each	\$12.09		1
	Total Price	\$2,865.33	11	
	Brand	Milton Bradley 4800	II	'l
	Model	4800	1	1
18	94 Each-Scattergories	004.04	\$23.95	\$24.68
	Price Each	\$21.94	'N	1 :
	Total Price	\$2,062.36	11	1
	Brand	Milton Bradle	/II	' I
	Model	491	451	
19	210 Each-Scrabble	011.0	\$11.9	4 \$12.65
	Price Each	\$11.24	'н	1
	Total Price	\$2,360.40	'	
	Brand	Milton Bradle 402	계	4
	Model	402	4	
20	230 Each-Hangman	\$7.6	\$15.5	\$8.60
	Price Each	\$1,757.2	11	
	Total Price	Milton Bradle	-11	
	Brand	432	711	· · · · · · · · · · · · · · · · · · ·
	Model			
21	257 Each-Throw and Go Jenga	\$8.9	\$16.7	70 No Bi
	Price Each	\$2,307.8	-u	1
	Total Price	Milton Bradle	- 11	•
	Brand	479	-7II	
	Model			
22	97 Each-Scrabble Junior	\$8.0	\$8.5	51 \$9.1
	Price Each	\$783.7		47 \$882.7
	Total Price	Milton Bradl		ey Milton Bradl
	Brand Model	. 40		39 W26
	Į.	N .		
23	167 Sets-Barrel of Monkeys	\$1.9		
	Price Each	\$330.	\$365.	
1	Total Price	Rin		•
	Brand Model	GA-MONI	GA-MON	BA W75
24	334 Sets-Balls and Jacks			
24	Price Each	\$0.	11	.79 No E
	Total Price	\$247.		
	Brand	Rir		nco
	Model	GA-JAC	LG GA-JAC	LG

Opened:	March 28, 2006	T.A.G. Sales Ltd.	Learning Zone	S&S Worldwide
For:	Annual Contract for Recreational Board & Table Games	411 Hunters Creek Drive	10531 Gulfdale	75 Mill St.
A795-06	AW/arw	New Braunfels, TX 78132	San Antonio, TX 78216	Colchester, CT 06415
Item	Description			
25	257 Each-Pictionary Junior			}
	Price Each Total Price Brand Model	\$13.39 \$3,441.23 Milton Bradley 4532	\$3,572.30 Milton Bradley	\$3,875.56 Milton Bradley
26	140 Sets-Flash Cards-Numbers Price Each Total Price Brand Model	\$2.64 \$369.60 School Zone 4005	\$462.00 School Zone	
27	140 Sets-Flash Cards-Alphabet Price Each Total Price Brand Model	\$2.64 \$369.60 School Zone 4001	\$462.00 School Zone	
28	140 Sets-Old Maid Cards Price Each Total Price Brand Model	\$2.64 \$369.60 School Zone 5018	\$462.00 School Zone	\$91.00 US Playing Cards
29	842 Sets-Playing Cards Price Each Total Price Brand Model	\$0.55 \$463.10 Not Giver	\$0.56 \$471.52	\$0.54 2 \$454.68 5 Kyvas
30	444 Sets-Yahtzee Price Each Total Price Brand Model	\$5.17 \$2,295.48 Milton Bradle E956	\$2,424.24 Milton Bradle	\$2,655.12 Milton Bradley
31	404 Sets-Memory Price Each Total Price Brand Model	\$5.74 \$2,318.96 Milton Bradle 466	\$6.99 5 \$2,823.96 Milton Bradle	\$6.52 6 \$2,634.08 y Milton Bradley
32	550 Sets-Dominoes Price Each Total Price Brand Model	\$0.83 \$456.50 Rince GA-DOMI	\$489.50 Rinc	\$539.00 Not Given

Opened:	March 28, 2006	T.A.G. Sales Ltd.	Learning Zone	S&S Worldwide
For:	Annual Contract for Recreational Board & Table Games	411 Hunters Creek Drive	10531 Gulfdale	75 Mill St.
A795-06	AW/arw	New Braunfels, TX 78132	San Antonio, TX 78216	Colchester, CT 06415
Item	Description			
33	759 Sets-Chess, Checkers, Backgammon combo			
	Price Each Total Price Brand Model	\$4.07 \$3,089.13 Pressmar 1113	\$3,256.11 Pressman	\$3,377.55 Not Given
34	127 Sets-Trivial Pursuit Entertainment Ed. Price Each Total Price Brand Model	\$13.38 \$1,700.53 Milton Bradle 0625	\$2,145.03 Parker Bros	
35	54 Sets-Trouble Price Each Total Price Brand Model	\$9.19 \$496.20 Milton Bradle 4650	\$534.60 Milton Bradley	\$564.84 Milton Bradley
36	104 Sets-Boggle, Standard Ed. Price Each Total Price Brand Model	\$11.19 \$1,163.70 Parker Bro 038	\$1,241.76 Hasbro	\$1,318.72 Parker Bros
37	Deleted		<u>.</u>	
38	10 Sets-Rummibkub Junior			
20	Price Each Total Price Brand Model 54 Sets-Sequence, Standard Ed.	\$8.49 \$84.9 Pressmal 041		No Bid
39	Price Each Total Price Brand Model	\$14.09 \$760.8 Ja 800.	\$1,290.60 x Ja:	\$1,542.24 Jax
40	27 Sets-Rack-O-Card Price Each Total Price Brand Model	\$4.88 \$131.7 Hasbr 4007	\$140.13 Hasbro	\$148.23 Hasbro

Opened:	March 28, 2006	T.A.G. Sales Ltd.	Learning Zone	S&S Worldwide
For:	Annual Contract for Recreational Board & Table Games	411 Hunters Creek Drive	10531 Gulfdale	75 Mill St.
A795-06	AW/arw	New Braunfels, TX 78132	San Antonio, TX 78216	Colchester, CT 06415
Item	Description			
41	40 Sets-Othello		_	
	Price Each Total Price Brand	\$7.65 \$306.00 Matte	\$315.20 Mattel	\$321.60 Not Given
	Model	B3165	B3165	BD1769
42 43	40 Sets-Uno, Stacko Price Each Total Price Brand Model 86 Each-Hungry Hungry Hippos	\$5.59 \$223.60 Matte 43535 N A S	\$351.60 Matte	
43	Price Each Total Price Brand Model	\$10.29 \$884.94 Hungry Frogs TF388	\$1,117.14 Hasbro	\$1,311.50 Not Given
44	84 Each-I SPY Memory Game Price Each Total Price Brand Model	\$12.69 \$1,065.96 Briarpatch BP6101	\$1,205.40 Briarpatch	
45	43 Each-30-Second Mysteries for Kids Price Each Total Price Brand Model	\$13.79 \$592.97 University Games 0141	\$605.87 University Games	,
46	84 Each-Bean Bag Ross Price Each Total Price Brand Model	\$4.49 \$377.16 Pressmar 2088	\$496.44 Pressmar	\$756.00 S&S
47	43 Each-Clue Jr. Price Each Total Price Brand Model	\$7.99 \$343.57 Hasbre 0409	\$532.77 Hasbro	7 \$390.87 o Not Given
48	84 Each-Pop-O-Matic Trouble Price Each Total Price Brand Model	\$9.19 \$771.96 Hasbri 465	\$831.60 Milton Bradle	y \$878.64 y Not Given

Opened:	March 28, 2006	T.A.G. Sales Ltd.	Learning Zone	S&S Worldwide
For:	Annual Contract for Recreational Board & Table Games	411 Hunters Creek Drive	10531 Gulfdale	75 Mill St.
A795-06	AW/arw	New Braunfels, TX 78132	San Antonio, TX 78216	Colchester, CT 06415
Item	Description			
49	43 Each-LEGO Bulk Special			
	Price Each Total Price Brand Model	No Bid	\$28.80 \$1,238.40 Lego 9306	\$900.85 Lego
50	54 Each-Scene It, Jr.		<u> </u>	
	Price Each Total Price Brand Model	\$26.89 \$1,452.06 Matte C3365	\$1,822.50 Matte	
51	54 Each-Twister Movies	NAS	NAS	NAS
	Price Each Total Price Brand Model	\$15.24 \$822.96 Hasbro 5346	\$1,132.92 Hasbro	\$936.90 Not Given
52	54 Each-Taboo for Kids			
	Price Each Total Price Brand Model	\$13.29 \$717.66 Hasbro 4036	\$987.66 Hasbro)
53	54 Each-Bop It	NAS	7	
	Price Each Total Price Brand Model	\$14.74 \$795.96 Hasbro 42430	\$1,393.20 Hasbro	
54	54 Each-Sorry Card Revenge	\$16.94	_ ¶ \$23.17	No Bid
	Price Each Total Price Brand Model	\$16.94 \$914.76 Hasbri 4201	\$1,251.18 Hasbro	3
55	54 Each-Game for Life-Sponge Bob Price Each Total Price Brand Model	\$16.29 \$879.66 Hasbr 4245	\$1,202.04 Hasbro	0
56	54 Each-Clue, Simpons Price Each Total Price Brand Model	\$15.3 \$828.3 Hasbr 4076	\$1,129.14 Hasbr	0

Opened:	March 28, 2006	T.A.G. Sales Ltd.	Learning Zone	S&S Worldwide
For:	Annual Contract for Recreational Board & Table Games	411 Hunters Creek Drive	10531 Gulfdale	75 Mill St.
			Con Antonio	Colchester,
A795-06	AW/arw	New Braunfels, TX 78132	San Antonio, TX 78216	CT 06415
ltem	Description			
57	54 Each-Mall Madness	005.00	1 005.04	No Bid
	Price Each	\$25.69	13	1
	Total Price	\$1,387.26	ti .	1
	Brand	Hasbro 04047		t I
	Model	04047	04047	
58	54 Each-Word Scramble	40.04	644.25	No Bid
	Price Each	12.84	1 i	1
	Total Price	\$693.36	11	i
	Brand	Briarpatch BP4410		
	Model	BF4410	4410	
59	54 Each-Uno Attack	1	\$25.50	No Bid
	Price Each	\$19.49	`II	
	Total Price	\$1,052.46	H	
	Brand	Matte 04194	11	II.
	Model	04194	4104	
60	54 Each-Cranium, Original Ed.			No Die
	Price Each	\$21.09		
	Total Price	\$1,138.8	11	•
	Brand	Craniur	11	1
	Model	Not Give	1	1
61	54 Each-Cranium Family Fun Game			
	Price Each	\$16.7	41	•
	Total Price	\$903.9	11	B.
	Brand	Craniur	II .	
	Model	Not Give	n 2307	4
62	54 Each-Cranium Cadoo			n No Di
	Price Each	\$14.5		
	Total Price	\$787.8		
	Brand	Craniu Not Give		
	Model	Not Give	0000	, ,
63	54 Each-Cranium Whoonu	∥ •••	610.6	No B
	Price Each	\$10.8		
	Total Price	\$588.0 Craniu	-11	
	Brand	Not Give	LI	
٠.	Model	Not Give	[]	
64	54 Each-Simon 2	\$19.1	\$19.8	\$21.7
	Price Each	\$1,035.7	III	
	Total Price Brand	Hasb	- 11	ro Hasbi
	Model	428	· - [1]	

Opened:	March 28, 2006	T.A.G. Sales Ltd.	Learning Zone	S&S Worldwide
For:	Annual Contract for Recreational Board & Table Games	411 Hunters Creek Drive	10531 Gulfdale	75 Mill St.
A795-06	AW/arw	New Braunfels, TX 78132	San Antonio, TX 78216	Colchester, CT 06415
Item	Description			
65	Deleted		Ì	
66	54 Each-Catch Phrase		<u> </u>	
į	Price Each	\$14.98	\$20.55	No Bid
)	Total Price	\$808.92	\$1,109.70	
	Brand	Hasbro	41	
	Model	40900	40900	
67	54 Each-Careers			
	Price Each	No Bid	No Bid	No Bid
	Total Price	1		
	Brand			
	Model -	ļ		
68	54 Each-Chicken Limbo			
1	Price Each	\$19.18		
	Total Price	\$1,035.72	ll .	1
	Brand	Hasbro 42326	H	
	Model	42520	42020	1
69	54 Each-Trivial Pursuit, Nickelodeon	\$16.39	 \$22.48	No Bid
	Price Each Total Price	\$885.06		Ĭ
	Brand	Hasbro	li .	}
	Model	42583	ti .	
70	54 Each-Operation, Shrek		 	
	Price Each	\$13.79	\$18.75	No Bid
}	Total Price	\$744.66	11	
ļ	Brand	Hasbro	11	
	Model	4166	4166	3
71	54 Each-Risk, Star Wars			
	Price Each	\$19.18	\$26.82	No Bid
	Total Price	\$1,035.72	\$1,448.28	3
ľ	Brand	Hasbro		
	Model	4233	4233	2
72	54 Each-Perfection	11		
	Price Each	\$13.49		
	Total Price	\$728.46	11	
	Brand	Hasbr		
1	Model	0406	406	0 W2605

Opened:	March 28, 2006	T.A.G. Sales Ltd.	Learning Zone	S&S Worldwide
For:	Annual Contract for Recreational Board & Table Games	411 Hunters Creek Drive	10531 Gulfdale	75 Mill St.
A795-06	AW/arw	New Braunfels,	San Antonio,	Colchester,
1,1,00-00	,,	TX 78132	TX 78216	CT 06415
Item	Description			
73	54 Each-Battleship]		}
	Price Each	\$12.04	\$11.59	\$13.58
1	Total Price	\$650.16	\$625.86	\$733.32
	Brand	Hasbro	11	li I
Į	Model	04730	4730	W2774
74	54 Each-Trouble			
ļ	Price Each	\$9.19	\$9.90	\$10.46
	Total Price	\$496.26	\$534.60	\$564.84
		Hasbro	Hasbro	Not Given
		04658	4658	W2606
	Terms	Net 30	2%-10	Net 30
Estimated Ar	nnual Award	\$80,498.60	\$7,111.06	\$5,699.85

Item 37 - Deleted (dept. will purchase on an as needed basis)

Item 65 - Deleted (no bids received)

T.A.G. - NAS (Not As Specified)

Item 5 - Incorrect Model Bid (#42515 bid)

Item 10 - Incorrect Model Bid (#1905 bid)

Item 43 - Incorrect Model Bid (Hungry Frogs bid)

Item 51 - Incorrect Model Bid (#53463 bid)

Iem 53 - Incorrect Model Bid (#42436 bid)

Learning Zone - NAS (Not As Specified)

Item 5 - Incorrect Model Bid (#42515 bid)

Item 8 - Incorrect Model Bid (Spanish Ed. bid)

Item 10 - Incorrect Model Bid (#19056 bid)

Item 51 - Incorrect Model Bid (#42436 bid)

S&S Worldwide - NAS (Not As Specified)

Item 5 - Incorrect Model Bid (#BD1203 bid)

Item 51 - Incorrect Model Bid (#W8096 bid)

Cannon Sports - NAS (Not As Specified)

Item 8 - Incorrect Model Bid (Classic Ed. bid)

Item 9 - Incorrect Model Bid (Classic Ed. bid)

Opened:	March 28, 2006	Cannon Sports	Collegiate Pacific	Kaplan Early Learning Co.
				00.
or:	Annual Contract for Recreational Board & Table Games	PO Box 11179	PO Box 7087	PO Box 609
795-06	AW/arw	Burbank, CA 91510	Dallas, TX 75209	Lewisville, NC 27023
Item	Description			ļ
1	140 Each-Candy Land	40.00	\$0.00	\$11.01
	Price Each	\$8.82		
	Total Price	\$1,234.80		
	Brand	CS 21229	1	
	Model	21220	1	
2	140 Each-Chutes & Ladders	\$7.75	\$6.96	\$10.16
	Price Each	\$1,085.00	1	No. of the contract of the con
	Total Price	CS		The second secon
	Brand Model	21230		5 8795
•	140 Each-Pick Up Sticks			ę.
3	Price Each	No Bio	No Bio	No Bio
	Total Price			1
	Brand			
	Model			
4	583 Each-Uno Cards			
4	Price Each	\$4.60	\$6.0	9 No Bio
	Total Price	\$2,681.8	\$3,550.4	7
	Brand	CS	1	
	Model	2121	7 GM100	11
5	94 Each-Gesstures			
J	Price Each	\$27.6	No Bi	d No Bi
	Total Price	\$2,598.1	6	
	Brand	CS	II	
	Model	411	<u> </u>	
6	194 Each-Mancala			
Ū	Price Each	No Bi	id No B	id No Bi
	Total Price			
	Brand			·
	Model			
7	1014 Each-Connect Four			
,	Price Each	\$13.2	i i	
	Total Price	\$13,384.8		
	Brand		SI Col P	
	Model	2120	07 GM44	30
8	230 Each-Monopoly, Sports Ed.	NAS		
	Price Each	\$15.2		Bid No B
	Total Price	\$3,507.5		
	Brand		SI	
	Model	212	08	

Opened:	March 28, 2006	Cannon Sports	Collegiate Pacific	Kaplan Early Learning Co.
For:	Annual Contract for Recreational Board & Table Games	PO Box 11179	PO Box 7087	PO Box 609
4795-06	AW/arw	Burbank, CA 91510	Dallas, TX 75209	Lewisville, NC 27023
Item	Description			
9	93 Each-Monopoly, San Antonio Ed.	NAS		
3	Price Each Total Price Brand Model	\$15.25 \$1,418.25 CS 21208		No Bid
10	257 Each-Bingo Price Each Total Price Brand Model	No Bio	No Bio	No Bid
11	140 Each-Cootie Price Each Total Price Brand Model	\$6.85 \$959.00 CS 2123	o Si	\$9.31 \$1,303.40 Kaplan 8585
12	30 Each-Shuttles Price Each Total Price Brand Model	No Bi	d No Bi	d No Bid
13	140 Each-Sorry Price Each Total Price Brand Model	\$16.4 \$2,296.0 C: 2121	0 \$2,277.8 SI Col Pa	\$2,850.40 ac \$2,850.40
14	448 Each-Twister Price Each Total Price Brand Model	\$15.6 \$7,011.2 C: 2124	90 \$7,159.0 SI Col Pa	34 \$8,740.48 ac Kapla
15	210 Each-Go Fishing for Letters Price Each Total Price Brand Model	No B	id No B	id No Bio
16	140 Each-Tri-Ominos Price Each Total Price Brand Model	No B	sid \$6. \$900. Col P GM44	20 ac

Opened:	March 28, 2006	Cannon Sports	Collegiate Pacific	Kaplan Early Learning Co.
For:	Annual Contract for Recreational Board & Table Games	PO Box 11179	PO Box 7087	PO Box 609
A795-06	AW/arw	Burbank, CA 91510	Dallas, TX 75209	Lewisville, NC 27023
Item	Description			:
17	237 Each-Guess Who?			
.,	Price Each Total Price Brand Model	\$14.70 \$3,483.90 Milton Bradley 4800	,	\$20.36 \$4,825.32 Kaplan 44801
18	94 Each-Scattergories Price Each Total Price Brand Model	\$27.64 \$2,598.16 Milton Bradley 4917		n No Bid
19	210 Each-Scrabble Price Each Total Price Brand Model	\$13.90 \$2,919.00 CS 21210	\$2,895.90 Col Pa	C
20	230 Each-Hangman Price Each Total Price Brand Model	No Bio	d No Bio	d No Bid
21	257 Each-Throw and Go Jenga Price Each Total Price Brand Model	\$10.5 \$2,703.6 Milton Bradle 479	4 y	d No Bio
22	97 Each-Scrabble Junior Price Each Total Price Brand Model	\$10.2 \$994.2 CS 2124	5 51	id No Bio
23	167 Sets-Barrel of Monkeys Price Each Total Price Brand Model	\$3.3 \$554.4 C: 2122	4 SI	id No Bio
24	334 Sets-Balls and Jacks Price Each Total Price Brand Model	No B	id No B	id No Bi

Opened:	March 28, 2006	Cannon Sports	Collegiate Pacific	Kaplan Early Learning Co.
For:	Annual Contract for Recreational Board & Table Games	PO Box 11179	PO Box 7087	PO Box 609
A795-06	AW/arw	Burbank, CA 91510	Dallas, TX 75209	Lewisville, NC 27023
Item	Description			
25	257 Each-Pictionary Junior			
	Price Each Total Price Brand Model	\$16.76 \$4,307.32 Milton Bradley 4532		\$20.36 \$5,232.52 Kaplan 15821
26	140 Sets-Flash Cards-Numbers Price Each Total Price Brand Model	No Bid	No Bio	No Bid
27	140 Sets-Flash Cards-Alphabet Price Each Total Price Brand Model	No Bid	l No Bio	1 No Bid
28	140 Sets-Old Maid Cards			
	Price Each Total Price Brand Model	No Bio	No Bid	d No Bid
29	842 Sets-Playing Cards Price Each Total Price Brand Model	\$0.65 \$547.30 CS 2121	\$766.2 Col Pa	2 c
30	444 Sets-Yahtzee Price Each Total Price Brand	\$6.66 \$2,930.4I	0 \$2,903.7 SI Col Pa	6 ac
	Model	2121	3 GME095	50
31	404 Sets-Memory Price Each Total Price Brand Model	\$7.4 \$2,993.6 CS 2123	4 51	\$10.16 \$4,104.64 Kaplan 9114
32	550 Sets-Dominoes Price Each Total Price Brand Model	\$1.2 \$660.0 CS 2117	0 SI	id No Bid

Opened:	March 28, 2006	Cannon Sports	Collegiate Pacific	Kaplan Early Learning Co.
For:	Annual Contract for Recreational Board & Table Games	PO Box 11179	PO Box 7087	PO Box 609
\795-06	AW/arw	Burbank, CA 91510	Dallas, TX 75209	Lewisville, NC 27023
Item	Description			
33	759 Sets-Chess, Checkers, Backgammon combo			ļ
	Price Each Total Price Brand Model	\$5.20 \$3,946.80 CS 21252	\$4,402.20 Col Pag	
34	127 Sets-Trivial Pursuit Entertainment Ed. Price Each Total Price Brand Model	No Bid	No Bio	No Bid
35	54 Sets-Trouble Price Each Total Price Brand Model	\$10.98 \$591.30 CS 2122	\$650.7 Col Pa	0 \$778.14 c Kaplar
36	104 Sets-Boggle, Standard Ed. Price Each Total Price Brand Model	\$13.24 \$1,378.0 CS 2122	O GI	d No Bio
37	Deleted			
. 38	10 Sets-Rummibkub Junior Price Each Total Price Brand	No Bi	d No B	id. No Bi
39	Model 54 Sets-Sequence, Standard Ed. Price Each Total Price Brand Model	No B	id No B	id No B
40	Price Each Total Price Brand Model	\$5.£ \$150. Hasb 400	66 Pro	Bid No B

Opened:	March 28, 2006	Cannon Sports	Collegiate Pacific	Kaplan Early Learning Co.
For:	Annual Contract for Recreational Board & Table Games	PO Box 11179	PO Box 7087	PO Box 609
A795-06	AW/arw	Burbank, CA 91510	Dallas, TX 75209	Lewisville, NC 27023
Item	Description			ļ
41	40 Sets-Othello			
	Price Each Total Price Brand Model	\$8.50 \$340.00 Matte 3165		No Bid
42	40 Sets-Uno, Stacko Price Each Total Price	No Bio	No Bio	No Bid
43	Brand Model 86 Each-Hungry Hungry Hippos Price Each Total Price	No Bio	d No Bir	d No Bid
44	Brand Model 84 Each-I SPY Memory Game Price Each Total Price Brand	No Bi	d No Bi	d No Bid
45	Model 43 Each-30-Second Mysteries for Kids Price Each Total Price Brand	No Bi	d No Bi	d No Bid
46	Model 84 Each-Bean Bag Ross Price Each Total Price Brand Model	No B	ld No B	id No Bio
47	43 Each-Clue Jr. Price Each Total Price Brand Model	No B	id No E	id No Bio
48	84 Each-Pop-O-Matic Trouble Price Each Total Price Brand Model	\$10.9 \$919.6 C 212	80 SI	Bid No Bi

Opened:	March 28, 2006	Cannon Sports	Collegiate Pacific	Kaplan Early Learning Co.
or:	Annual Contract for Recreational Board & Table Games	PO Box 11179	PO Box 7087	PO Box 609
795-06	AW/arw	Burbank, CA 91510	Dallas, TX 75209	Lewisville, NC 27023
Item	Description			
49	43 Each-LEGO Bulk Special			
	Price Each Total Price Brand Model	No Bio	d No Bic	No Bid
50	54 Each-Scene It, Jr.		No Die	No Bid
	Price Each Total Price Brand Model	\$28.4 \$1,538.4 Matte 336	6 el	1 140 DIG
5 4	54 Each-Twister Movies			
51	Price Each Total Price Brand Model	\$24.1 \$1,301.9 Hasb 4090	4 ro	d No Bio
52	54 Each-Taboo for Kids		7	
02	Price Each Total Price Brand Model	\$16.7 \$905.0 Hasb 4030	04 ro	d No Bio
53	54 Each-Bop It		_ =1	id No Bio
	Price Each Total Price Brand Model	\$16.4 \$886. Hasb 407	14 pro	IQ NO BIO
54	54 Each-Sorry Card Revenge Price Each Total Price Brand Model	\$21. \$1,139. Hast 420	94 pro	iid No Bi
55	54 Each-Game for Life-Sponge Bob Price Each Total Price Brand Model	\$17. \$958. C	50 \$888. Col F	30 Pac
56	54 Each-Clue, Simpons Price Each Total Price Brand Model	\$19 \$1,048 Has 40	.14	Bid No B

Opened:	March 28, 2006	Cannon Sports	Collegiate Pacific	Kaplan Early Learning Co.
For:	Annual Contract for Recreational Board & Table Games	PO Box 11179	PO Box 7087	PO Box 609
A795-06	AW/arw	Burbank, CA 91510	Dallas, TX 75209	Lewisville, NC 27023
Item	Description			
57	54 Each-Mall Madness Price Each Total Price Brand Model	\$30.52 \$1,648.08 Hasbro 04047A		No Bid
58	54 Each-Word Scramble Price Each Total Price Brand Model	No Bid	No Bic	No Bid
59	54 Each-Uno Attack Price Each Total Price Brand Model	No Bid	No Bio	No Bid
60	54 Each-Cranium, Original Ed. Price Each Total Price Brand Model	No Bio	No Bio	d No Bid
61	54 Each-Cranium Family Fun Game Price Each Total Price Brand Model	No Bio	i No Bio	d No Bid
62	54 Each-Cranium Cadoo Price Each Total Price Brand Model	No Bio	d No Bi	d No Bid
63	54 Each-Cranium Whoonu Price Each Total Price Brand Model	No Bio	d No Bi	d No Bio
64	54 Each-Simon 2 Price Each Total Price Brand Model	\$24.1 \$1,301.9 Hasbr 4100	4 0	d No Bio

Opened:	March 28, 2006	Cannon Sports	Collegiate Pacific	Kaplan Early Learning Co.
For:	Annual Contract for Recreational Board & Table Games	PO Box 11179	PO Box 7087	PO Box 609
A795-06	AW/arw	Burbank, CA 91510	Dallas, TX 75209	Lewisville, NC 27023
Item	Description			
65	Deleted		}	
66	54 Each-Catch Phrase			
	Price Each	\$18.76	No Bid	No Bid
	Total Price	\$1,013.04		
	Brand	Hasbro		
	Model	40900		
67	54 Each-Careers		1	
	Price Each	\$9.35		No Bid
	Total Price	\$504.90	II.	
	Brand	Hasbro 40858		
	Model	40000	1	
68	54 Each-Chicken Limbo	₱ ₽2.47	No Bio	No Bid
	Price Each	\$23.47 \$1,267.38	i	No Bid
	Total Price Brand	Hasbro	1	
	Model	42326		
69	54 Each-Trivial Pursuit, Nickelodeon			
55	Price Each	\$20.58	No Bio	No Bid
	Total Price	\$1,111.32	2	
	Brand	Hasbro	l .	
	Model	42583	3	
70	54 Each-Operation, Shrek			
	Price Each	\$17.35		No Bid
	Total Price	\$936.90		
	Brand	Hasbro 41668	1	
	Model	41000		
71	54 Each-Risk, Star Wars	\$24.11	No Bio	No Bio
	Price Each Total Price	\$1,301.94	1	1,000
	Brand	Hasbro		
	Model	4233		
72	54 Each-Perfection			
'-	Price Each	\$17.35	5 \$17.1	
	Total Price	\$936.90	\$925.0	
	Brand	cs		
	Model	2124	3 GM406	0 646

Opened:	March 28, 2006	Cannon Sports	Collegiate Pacific	Kaplan Early Learning Co.
For:	Annual Contract for Recreational Board & Table Games	PO Box 11179	PO Box 7087	PO Box 609
A795-06	AW/arw	Burbank, CA 91510	Dallas, TX 75209	Lewisville, NC 27023
Item	Description			
73	54 Each-Battleship			
	Price Each	\$15.85		
	Total Price	\$855.90	E .	1
	Brand	CSI		
	Model	21205	GM4730	
74	54 Each-Trouble			
	Price Each	\$10.95	\$12.04	No Bid
	Total Price	\$591.30	\$650.16	
		CS	Col Pac	
		21220	GM4658	3
	Terms	Net 30	Net 30	Net 30
Estimated A	Annual Award	\$5,291.14	.	

Item 37 - Deleted (dept. will purchase on an as needed basis

Item 65 - Deleted (no bids received)

T.A.G. - NAS (Not As Specified)

Item 5 - Incorrect Model Bid (#42515 bid)

Item 10 - Incorrect Model Bid (#1905 bid)

Item 43 - Incorrect Model Bid (Hungry Frogs bid)

Item 51 - Incorrect Model Bid (#53463 bid)

lem 53 - Incorrect Model Bid (#42436 bid)

Learning Zone - NAS (Not As Specified)

Item 5 - Incorrect Model Bid (#42515 bid)

Item 8 - Incorrect Model Bid (Spanish Ed. bid)

Item 10 - Incorrect Model Bid (#19056 bid)

Item 51 - Incorrect Model Bid (#42436 bid)

S&S Worldwide - NAS (Not As Specified)

Item 5 - Incorrect Model Bid (#BD1203 bid)

Item 51 - Incorrect Model Bid (#W8096 bid)

Cannon Sports - NAS (Not As Specified)

Item 8 - Incorrect Model Bid (Classic Ed. bid)

Item 9 - Incorrect Model Bid (Classic Ed. bid)

Opened:	March 31, 2006	S & S Worldwide	Sax Arts & Crafts	Dick Blick
For:	Arts & Crafts Supplies	75 Mill St.	PO Box 510710	PO Box 1267
A797-06	AW/arw	Colchester, CT 06415	New Berlin, WI 53151	Galesburg, IL 61402
Item	Description			
1	280 Each-Color Me Sports Frame		Ĺ	
	Price Each Total Price Brand Model	\$4.70 \$1,316.00 \$&\$ Worldwide RMG-GP1D58		No Bid
2	420 Each-Supervisors Price Each Total Price Brand Model	\$5.74 \$2,410.80 S&S Worldwide SR9-GP457		No Bid
3	594 Each-Sponge Sheets Price Each Total Price Brand Model	\$7.20 \$4,276.80 S&S Worldwide . SR9-C050		1 No Bid
4	140 Each-All About Me Kids I.D. Price Each Total Price Brand Model	\$4.10 \$574.00 S&S Worldwide SR9-GP97	2	d No Bid
5	175 Bottles-Faster Plaster Bottles Price per Bottle Total Price Brand Model	\$2.60 \$455.00 S&S Worldwid SR9-PL69	o e	d No Bid
6	204 Packs-Flying colors nylon twine pack Price per Pack Total Price Brand Model	\$12.4 \$12,719.4 \$&S Worldwid JW38	o e	d \$5.51 \$1,124.04 Blick 65231-1009
7	320 Each-Split ring, 1" Price Each Total Price Brand Model	\$0.4 \$156.8 \$&S Worldwid GP649	0 e	d No Bid
8	Deleted		7	
9	282 Sets-Sponge Shapes Price Per Set Total Price Brand Model	\$12.5 \$3,525.0 \$&\$ Worldwic RMB-DC8	O le	id No Bid
10	167 Sets-Wonder Foam Price Per Set Total Price Brand Model	\$2.0 \$337.3 S&S Worldwic AC74	\$250.5 de Chenille Kra	50 aft

Opened:	March 31, 2006	S & S Worldwide	Sax Arts & Crafts	Dick Blick
				PO Box 1267
or:	Arts & Crafts Supplies	75 Mill St.	PO Box 510710	PO BOX 1267
797-06	AW/arw	Colchester, CT 06415	New Berlin, WI 53151	Galesburg, IL 61402
Item	Description			
11	6550 Each-Scissors, Blunt Tip			¢4.70
	Price Each ,	\$0.64	II	
	Total Price	\$4,192.00	11	1
	Brand	School Work		
	Model	SZ59	91467096	
12	27 Each-Lacing Rack with Lace	ll .		
12	Price Each	\$15.5	No Bid	No Bid
	Total Price	\$418.5	o	
	Brand	S&S Worldwid	e	
	Model	RMB-AC56	톄	
13	27 Pack-Paint brushes			
13	Price Per Pack	\$3.2	0 \$4.00	No Bid
	Total Price	\$86.4	ol \$108.00)
	1	S&S Worldwid	Sax White Bristles	s
	Brand	AB372	II	6
	Model		1	
14	71 Each-Glue Pump	\$0.8	\$13.50	\$16.37
	Price Each	\$60.3		\$1,162.27
	Total Price	S&S Worldwid	1)	er
	Brand	AS16	~¶	
	Model		9	1
15	25 Each-Paste, gallon size	\$8,20/\$16.4	n.★ No Bi	No Bio
	Price Each	\$410.0	~	~
	Total Price		*1	
	Brand	S&S Worldwin		
	Model	GL5	94	1
16	160 Rolls-Roll of paper, 12" x 200'		No Bi	d No Bi
	Price per Roll	\$5.4	79	"
	Total Price	\$1,393.2	ii .	1
	Brand	S&S Worldwi	11	
	Model	RMB-PE7	78	ì
17	391 Packs-Hot glue sticks, 5/16"	I		No B
	Price per Pack	\$1.		"
	Total Price	\$523.	II	
	Brand	S&S Worldwi		• 1
	Model	RMB-GL5	21 DT10	00
18	40 Packs-Metal tile coaster packs	Ŋ.	I	
	Price Per Pack	\$59.	90 No B	id No B
	Total Price	\$2,396.	00	1
	Brand	S&S Worldw	ide	ļ
	Model	RMB-TT703	××I	
19	140 Packs-Class Collage Pack			
	Price per Pack	\$23.	.50 No E	Bid No B
	Total Price	\$3,290	.00	
	Brand	S&S Worldw	ride	
1	Model	GP60		
200	280 Kits-Classroom Stringables Kit	\\	<u> </u>	
20	Price per Kit	\$15	.30 No E	Bid No E
	1 '	\$4,284	II .	
1	Total Price	S&S Worldw		
	Brand Model	BE		
1	Model			

Opened:	March 31, 2006	S & S Worldwide	Sax Arts & Crafts	Dick Blick
For:	Arts & Crafts Supplies	75 Mill St.	PO Box 510710	PO Box 1267
. •				
A797-06	AW/arw	Colchester, CT 06415	New Berlin, WI 53151	Galesburg, IL 61402
Item	Description			
21	194 Kits-Activity Kit, Mask Making			
	Price per Kit	\$9.9	II .	
	Total Price	\$1,920.6	II .	1
	Brand	S&S Worldwid	11	l l
	Model	AP10	06 2128	3
22	238 Kits-Big Box of Art Materials		 	
	Price per Kit	\$29.9	11	
	Total Price	\$7,137.6	III	1
	Brand	S&S Worldwin	li -i	
	Model	LR1:	35 210°	1
23	140 Packs-Scratch-Art Sratchboards			
	Price per Pack	\$2.9		
	Total Price	\$413.0	5418.60	\$434.00
	Brand	S&S Worldwi	de ScratchAi	rt
	Model	PE7	94 SB-B-10-	8
24	140 Packs-Paper Bag Puppets			
24	Price per Pack	\$12.	50 No Bi	d No Bid
	Total Price	\$1,750.	11	1
	Brand	S&S Worldwi	li i	
	Model	GP1		
25	140 Kit-Activity Kit, Frame Decorating		1	
25	Price per Pack	\$19.	96 No Bi	d No Bid
	Total Price	\$2,794.	§I	
	Brand	S&S Worldwi	ll .	
	IModel	AP1	•	
200	140 Kits-Activity Kit, Valentine's Activity			
26	Price per Packs	\$27.	no No Bi	d No Bid
	Total Price	\$3,780.		-
		S&S Worldwi		
	Brand Model	SL15		
07	•		~]	
27	10 Packs-Lace, plastic	\$45.00/\$90.0	No Bi	d No Bio
	Price Per Pack	\$900.	- II	
	Total Price	S&S Worldw		
	Brand	LA25		
28	Model Deleted	LAZS	30	
20		NA C		
29	211 Packs-Craft Sticks	NAS		<u></u>
	Price per Pack	\$2.19/\$4.3	II .	11
	Total Price	\$924		
	Brand	Not Giv		
	Model	CS6	500 7078	<u>3</u> 2
30	30 Packs-Twisteez Wire Craft Kit			
	Price Each	\$8.65/\$17.3	\$18.6	\$20.6
	Total Price	\$519	· · · · · · · · · · · · · · · · · · ·	
	Brand	S&S Worldw	ll .	1
	Model	GF		1

Opened:	March 31, 2006	S & S Worldwide	Sax Arts & Crafts	Dick Blick
or:	Arts & Crafts Supplies	75 Mill St.	PO Box 510710	PO Box 1267
\797-06	AW/arw	Colchester, CT 06415	New Berlin, WI 53151	Galesburg, IL 61402
Item	Description			
31	140 Packs-Scratch Foam Board			
31	Price per Pack	\$3	3.14 \$4.	No Bid
	Total Price	\$439	9.60 \$691.i	60
	Brand	S&S Worldv		L L
	Model		SC-F	F-6
00	50 Feeb Feenemy Bubber Broyers			
32	50 Each-Economy Rubber Brayers Price Each	S ₂	4.29 \$4.	50 No Bid
	Total Price	\$214		00
	Brand	S&S Worldv	wide Testi	rite
	Model	LN	1110 2	4B
20	160 Sets-Bamboo Brush Set			
33		No.	Bid \$2	27 \$3.78
	Price Per Set Total Price	110	\$136	B1
	Brand			Sax
	Model		7054434	177
2.4	300 Each-Roma Plastilina, Medium			
34		No	Bid \$4	.34 \$5.14
	Price Each Total Price	1	\$1,302	.00 \$1,542.00
	Brand		Not Gi	ven
	Model		∥ 56	55 B
35	450 Packs-Scratch Art Scratchboards			
55	Price per Pack	\$	2.95 \$3	.03 \$5.14
	Total Price	\$1,32	7.50 \$1,363	.50 \$2,313.0
	Brand	S&S World		1
	Model	P!	E794 SB-B-1	0-8
36	175 Packs-Wooden Sticks			1
••	Price per Pack	G .	, o., o	.60 No Bi
	Total Price	\$13	33.00 \$280	
	Brand	S&S World		I and the second
	Model	A	C784 1	304
37	350 Packs-Foam Brushes			l.27 \$1.5
	Price per Pack		· II	
	Total Price	II .		
	Brand	S&S World	24410 G	
	Model		AB80 71016	,-10
38	635 Packs-Felt Kids Pack	jj .	\$1.80 No	Bid No B
	Price per Pack	ll e	43.00	110 2
	Total Price	S&S World	ii ii	
	Brand		A3333	
	Model	1	3333	į
39	280 Packs-Woodies Sport-sters		\$1.50 No	Bid
	Price per Pack	11	20.00	No B
	Total Price	S&S Worl	li li	
	Brand		07225	
	Model		· 🍴	
40	350 Packs-Woodies Zoo Crew		\$1.48 No	Bid No E
	Price per Pack	LE .	18.00	
	Total Price	S&S Worl		
	Brand	ll .	07226	
1	Model			

Opened:	March 31, 2006	S & S Worldwide	Sax Arts & Crafts	Dick Blick
For:	Arts & Crafts Supplies	75 Mill St.	PO Box 510710	PO Box 1267
A797-06	AW/arw	Colchester, CT 06415	New Berlin, W1 53151	Galesburg, IL 61402
Item	Description			
41	84 Packs-Clothespins Price per Pack Total Price Brand Model	\$2.48 \$208.32 S&S Worldwide WD452	\$92.40 Chenille Kraft 3658-01	
	Terms	Net 30	Net 30	
Estimated Annual Award		\$54,523.19	\$2,171.45	\$1,124.04

Item 28 - Deleted (no bids received)

S&S Worldwide

Item 29 - Incorrect size bid(not per bid specifications)

Opened:	March 31, 2006	S & S Worldwide	Sax Arts & Crafts	Dick Blick
For:	Arts & Crafts Supplies	75 Mill St.	PO Box 510710	PO Box 1267
A797-06	AW/arw	Colchester, CT 06415	New Berlin, WI 53151	Galesburg, IL 61402
Item	Description			
1	280 Each-Color Me Sports Frame	\$4.70	No Bid	No Bid
	Price Each Total Price Brand Model	\$4.70 \$1,316.00 \$&\$ Worldwide RMG-GP1D58		No Bio
2	420 Each-Supervisors Price Each Total Price Brand Model	\$5.74 \$2,410.80 S&S Worldwide SR9-GP457		No Bid
3	594 Each-Sponge Sheets Price Each Total Price	\$7.20 \$4,276.80	No Bio	No Bid
4	Brand Model 140 Each-All About Me Kids I.D.	S&S Worldwide SR9-C050		no Bid
	Price Each Total Price Brand Model	\$4.10 \$574.00 S&S Worldwide SR9-GP97	2	, No bid
5	175 Bottles-Faster Plaster Bottles Price per Bottle Total Price Brand Model	\$2.60 \$455.00 \$&\$ Worldwide \$R9-PL69!) e	i No Bid
6	204 Packs-Flying colors nylon twine pack Price per Pack Total Price Brand	\$12.47 \$12,719.40 S&S Worldwid JW38	0	\$5.51 \$1,124.04 Blick 65231-1009
7	Model 320 Each-Split ring, 1"	34430	0	63231-1008
	Price Each Total Price Brand Model	\$0.49 \$156.80 \$&\$ Worldwid GP6490	0	d No Bid
8	Deleted			
9	282 Sets-Sponge Shapes Price Per Set Total Price Brand Model	\$12.5 \$3,525.0 \$&\$ Worldwid RMB-DC8	0 e	d No Bio
10	167 Sets-Wonder Foam Price Per Set Total Price Brand Model	\$2.0 \$337.3 S&S Worldwid AC74	4 \$250.5 e Chenille Kra	o ift

Opened:	March 31, 2006	S & S Worldwide	Sax Arts & Crafts	Dick Blick
	•			
For:	Arts & Crafts Supplies	75 Mill St.	PO Box 510710	PO Box 1267
	, ind a diana applied			
A797-06	AW/arw	Colchester,	New Berlin,	Galesburg,
A131-00	75W/GIW	CT 06415	WI 53151	IL 61402
Item	Description			
11	6550 Each-Scissors, Blunt Tip			
	Price Each	\$0.64	\$1.45	\$1.78
	Total Price	\$4,192.00	\$9,497.50	\$11,659.00
	Brand	School Works	Fiskars	5
	Model	SZ592	91467096	i
12	27 Each-Lacing Rack with Lace			
	Price Each	\$15.50	No Bid	No Bid
	Total Price	\$418.50		
	Brand	S&S Worldwide	li e	
	Model	RMB-AC565		
13	27 Pack-Paint brushes			
	Price Per Pack	\$3.20	\$4.00	No Bid
	Total Price	\$86.40		1
	Brand	S&S Worldwide		
	Model	AB3720	II .	
14	71 Each-Glue Pump	1	1	1
14	Price Each	\$0.85	\$13.53	\$16.37
	L L	\$60.35	ll .	li .
	Total Price	1	13	i
	Brand	S&S Worldwide	ł1	
	Model	AS160	E343	1
15	25 Each-Paste, gallon size			.
	Price Each	\$8.20/\$16.40*	II .	No Bio
	Total Price	\$410.00	li	
	Brand	S&S Worldwide	5 1	
	Model	GL592	4	
16	160 Rolls-Roll of paper, 12" x 200'	i i		
	Price per Roll	\$5.40		No Bio
	Total Price	\$1,393.20		
	Brand .	S&S Worldwide		
	Model	RMB-PE778	∯	
17	391 Packs-Hot glue sticks, 5/16"			1
	Price per Pack	\$1.34	\$2.47	No Bio
	Total Price	\$523.94	\$965.77	7
	Brand	S&S Worldwide		
	Model	RMB-GL52		
18	40 Packs-Metal tile coaster packs			
	Price Per Pack	\$59.90	No Bio	No Bio
	Total Price	\$2,396.00		
	Brand	S&S Worldwide	BI .	
	Model	RMB-TT703XX		
19	140 Packs-Class Collage Pack]	İ
10	Price per Pack	\$23.50	No Bio	No Bio
	Total Price	\$3,290.00		1
	Brand	S&S Worldwide	II	
	Model	GP6000	11	
20	280 Kits-Classroom Stringables Kit	3-6000	1	
20	_	\$15.30	No Bio	No Bio
	Price per Kit	LI .	II	ino di
	Total Price	\$4,284.00		
	Brand	S&S Worldwide		
	Model	BE704	<u> </u>	1

Opened:	March 31, 2006	S & S Worldwide	Sax Arts & Crafts	Dick Blick
For:	Arts & Crafts Supplies	75 Mill St.	PO Box 510710	PO Box 1267
A797-06	AW/arw	Colchester, CT 06415	New Berlin, WI 53151	Galesburg, IL 61402
Item	Description			
21	194 Kits-Activity Kit, Mask Making Price per Kit Total Price Brand	\$9.9 \$1,920.6 S&S Worldwid	\$3,492.00 Roylco)
22	Model 238 Kits-Big Box of Art Materials Price per Kit Total Price Brand Model	AP10 \$29.9 \$7,137.6 S&S Worldwid LR13	9 \$38.19 2 \$9,089.22 e Roylco	No Bid
23	140 Packs-Scratch-Art Sratchboards Price per Pack Total Price Brand Model	\$2.9 \$413.0 S&S Worldwid PE79	5 \$2.99 0 \$418.60 e ScratchAr	\$3.10 5 \$434.00 t
24	140 Packs-Paper Bag Puppets Price per Pack Total Price Brand Model	\$12.5 \$1,750.0 S&S Worldwic GP15	0 le	t No Bid
25	140 Kit-Activity Kit, Frame Decorating Price per Pack Total Price Brand Model	\$19.9 \$2,794.4 S&S Worldwic AP12	0 le	d No Bid
26	140 Kits-Activity Kit, Valentine's Activity Price per Packs Total Price Brand Model	\$27.0 \$3,780.0 S&S Worldwid SL152	de	d No Bid
27	10 Packs-Lace, plastic Price Per Pack Total Price Brand Model	\$45.00/\$90.00 \$900.0 S&S Worldwic LA255	oO de	d No Bid
28	Deleted			
29	211 Packs-Craft Sticks Price per Pack Total Price Brand Model	N A S \$2.19/\$4.30 \$924.1 Not Give CS60	\$390.3 en Waddle We Do	5 oc
30	30 Packs-Twisteez Wire Craft Kit Price Each Total Price Brand Model	\$8.65/\$17.3 \$519.0 S&S Worldwic GPS	00 \$560.7 de TW-20	0 \$619.80 00

Opened:	March 31, 2006	S & S Worldwide	Sax Arts & Crafts	Dick Blick
For:	Arts & Crafts Supplies	75 Mill St.	PO Box 510710	PO Box 1267
A797-06	AW/arw	Colchester, CT 06415	New Berlin, WI 53151	Galesburg, IL 61402
Item	Description			
31	140 Packs-Scratch Foam Board			
	Price per Pack Total Price Brand Model	\$3.14 \$439.60 S&S Worldwide	\$691.60	i i
32	50 Each-Economy Rubber Brayers Price Each Total Price Brand Model	\$4.29 \$214.50 S&S Worldwide LN110	\$225.00 Testrite	
33	60 Sets-Bamboo Brush Set Price Per Set Total Price Brand Model	No Bid	\$2.27 \$136.20 Sax 705443477	4
34	300 Each-Roma Plastilina, Medium Price Each Total Price Brand Model	No Bio	\$4.34 \$1,302.00 Not Giver 555E	\$1,542.00
35	450 Packs-Scratch Art Scratchboards Price per Pack Total Price Brand Model	\$2.95 \$1,327.50 S&S Worldwide PE794	\$1,363.50 ScratchAr	\$2,313.00 t
36	175 Packs-Wooden Sticks Price per Pack Total Price Brand Model	\$0.76 \$133.00 S&S Worldwide AC78	\$280.00 ScratchAr	t
37	350 Packs-Foam Brushes Price per Pack Total Price Brand Model	\$1.20 \$420.00 S&S Worldwide AB8	\$444.50 Jack Richeson	\$546.00
38	635 Packs-Felt Kids Pack Price per Pack Total Price Brand Model	\$1.80 \$1,143.00 S&S Worldwide FA333:) No Bio	d No Bid
39	280 Packs-Woodies Sport-sters Price per Pack Total Price Brand Model	\$1.50 \$420.00 S&S Worldwidd WD722:		d No Bid
40	350 Packs-Woodies Zoo Crew Price per Pack Total Price Brand Model	\$1.48 \$518.00 S&S Worldwid WD722		d No Bid

Opened:	March 31, 2006	S & S Worldwide	Sax Arts & Crafts	Dick Blick
For:	Arts & Crafts Supplies	75 Mill St.	PO Box 510710	PO Box 1267
A797-06	AW/arw	Colchester, CT 06415	New Berlin, WI 53151	Galesburg, IL 61402
item	Description			
41	84 Packs-Clothespins Price per Pack Total Price Brand Model	\$2.48 \$208.32 S&S Worldwide WD452	\$92.40 Chenille Kraft	
	Terms	Net 30		ļi
Estimated A	Annual Award	\$54,523.19	\$2,171.45	\$1,124.04

Item 28 - Deleted (no bids received)

S&S Worldwide

Item 29 - Incorrect size bid(not per bid specifications)